Name:

('4-Digit Subtraction )

(Subtrqction)

7,804
- 3,213

b. 9486 — 327 =

c. Arecycling company received

d. Kyrie had $4,372 in his savings

account. He bought a new video

8,658 pieces of material. 972

Preview

Please log in fo download
the printable version of this worksheet.

answer:

answer:

e. Fillin the missing value.

whole

5,283

3H19

part part

f. Fillin the missing digits.

6.1 |9
- 82
S5 133
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ANSWER KEY ('4-Digit Subtraction )

(Su btraction )

b. 9486 — 327 = _9159

716

7 10

7,804
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the printable ver:

9,117
part part
412713
5285 5[3]3 3
-3419
1,864
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